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BOH"E N & P- 1 F
T F 4 [ b A®EE R 4KAESNEEME LE
H B fr | & B Mos N R
+T K1 1, 956, 253
PR T K1 275,125 | ¥4 71 Jois
Dt 71
BT A1 1,681,128 |R&+T 387 oty
A 387
- Bk &Y A1 11,527, 759
Pk T EVN 11,527,759 |7 L3 v & |k FAHEK 283 m
283
APk Pul (D) -0. 24-0. 24 (PA) 175 m
APk Pul (G) -0. 24+-0. 24 (PA) 24 m
R B L A1 1, 398, 992
HEK2EE T EVN 1,398,992 |A 8 T
B 16 m
R Uil 7K T 1,128 m
fHEET A1 952, 197, 867
SRR B AR T EVN 4,279,380 | FJmikiz 4,518 fred
4,518
AV har s Y — MEERT EV 184,875 |z 7 U — MERERR 25 il
27 Y — MR 25
F—R—1L AT K1 65, 040, 169 |A— "—L A T 25, 780 ot
it 25, 780
YA — "—L A T EV 813,195,272 |YIHIA— "—1L A T 154, 811 hel
it 154, 811
A 669 m3
A (PA) 1,182 m 3
A 2, 459 m 2
A (t=4cm) (PA) 179 m 2
B (t=5cm) (PA) 1,035 m 2
L_Y 7T A1 16,498,812 |7 A7 7L FNEEIRAY 783 t
783
Z Ofth&fHEE T A1 2,134,049 |{FEE MR T 15, 577 m
HRRRBS K T EVINT 50, 865, 310 | RARBSAK T 5,017 m
B1 5,017
&R T A1 13,786, 168
AE T EVN 5,773,872 |[A v ¥ —uvXx o 77 nmy sk 845 fred
845
A —uayFrr7ay s (PA) 546 m 2
& O fthiE T A1 8,012,296 |A (PA) 124 pae
A (PA) 52 m 2
B (PA) 54 m 2
A (PA) 4 #
B (PA) 8 e
C (PA) 8 #
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T # 4 [ b A®EE R 4KAESNEEME LE
LR
H B fr | 4% il MMoBl N R
D (PA) 2 e
mRk7ay s (PA) 218 m
k7 m vz (PA) 17 m
FT0 (PA) 16 m
MEE: (P A) 40 m
A3 PR % T A1 7,861, 078
B R L K1 7,861,078 |BRMAER J 1 SHASAL 41, 144 m
Al 11, 536 B1 29, 608 m
BERER ] T SHKA (nf) 1, 447 of
Cc1 1, 447
W& AL EV 67, 029, 963
(R U T EE 67,029,963 |fffitkiE (FkL) 255 m
255
MET A1 190,519, 718
AL EVINT 2,293,940 |7 A7 7L MN&EA 793 m
793
TH#ar 7 ) — Mga 75 m
75
waA (PA) 292 m
WiE S HEE L T EV 76,730,491 |FEEWERHEL T (m) 16 m
16
KRR EmE-0 T (W])  CEREIFE T 1 m3
KRR EEIZ->0 T (W]) (B Lo 1 m3
KRR EEIZ->0 T (W]) (Bl Fo#) 1 m3
R EmiiE->0 T (WJ) (MG Eo#) 2 m3
KRR EmIE->0 T (WJ)  (WE)IFE T 2 m3
RIR EmEIE->0 T (W])  (Fafris  Fo#) 0.61 m3
KR EmEIZ-SV T (W]) GR)IE B 3 m3
KR EmEIZ-SV T (W]) GR)IE T 4 m 3
KR EmEIZ->0 LT (W]J) GATH Lo 2 m3
RIREmEIE-S>0 T (W])  (FRE B0 1 m3
KR EmEIE->0 T (W])  (EFE RO 1 m3
KR EmEIZ->0 T (W]) (BiAa)IE B 0.7 m3
RIR EmEIE->0 T (W])  (FEiRE RO 3 m3
KR EmEIZ-S>V T (W]) (REE RO 3 m3
KR EmEIZ-S>V T (W]) (RREE o) 3 m 3
BEg a7 J— b 36 m 3
Z DAL E 29,798,614 |L—7 A LE T 2 T
HFXKET (PA) 14 T
<~ A= (PA) 7 &R
a7 U — MEA 291 m
T AT 7V MNEA 502 m




il
i
iy
)
T

T # 4 [ b A®EE R 4KAESNEEME LE
H B fr | 4% il WoB N ER
A (PA) 276 m
WEHRILT A 1 144 &0
PEHRILT A 2 138 &0
WEHEITB 1 144 &0
WEHEILT.B 2 138 &0
1 =
1 =
A @A T A1 60,392,910 |HHRHH] L XNXM 161 G}
161 5]
R E S x| 1 21,303,763 | RBEHEHE 1,297 A+ H
1,297 A-H
B THE &t E 1, 246, 277, 798
Ik T A |1 17, 408, 529
MET HA K |1 17,408,529 |7 A7 7 )V hEMEOTRY Rt 1 =
o 7R 1 =
EETHEE F K |1 1, 263, 636, 327
M RER K |1 163, 437, 652
BB S ¢ X |1 34,942, 652 | T3 ASHGERLE 1 =
SRS ERE T H RIS N B 1 =
1 < BT 1 =
e B K |1 128, 495, 000
Bl E Bt K |1 234, 715, 000
METHEE § K |1 398, 152, 652
T K |1 1,661, 838, 979
—RE P K |1 145, 561, 021
T {iAs K |1 1, 807, 400, 000




